Spring Test 6

Name ........................................................................ CIaSS ................................. Date ...............................
1|2X7= 2 ~5=11

O O
3| 23X100= 9 =713 — 305

O O
S |20X1= 6| 22=

O O
7 = 0X 70 8| Y—5-

O O
9 |78 +284= 10| 348 = + 176

O O
n 0" 12| 3058

O O
13| 3 +4= 14 = 72

O O
15| 1364 — 58 = 16| 4 X37 X5=

O O
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Spring Test 6 (continued)

17 = 6004 — 2151 18314122

19 | 600 X 9 = 20| = — 15 =

216193 22| 5=1745+

23| 729 +10= 249 — 169 = 651

2773
25| 3 26 =7319 + 6 + 287
27| 816824 28| ;- + =
\
Total marks /28
J
HQW we" did YOU dO? * with correct place value 9 | 15|26
Colour the numbers of the — with zeros 7
questions you got correct. Multiples of tables 19
Square and cube numbers 6 |14
+ or x by 10, 100 or 1000 3|23
Short x 1|25
Short +, including r 12 (18] 212227
Fractions 8113|2028
Missing numbers 2 [10]22]|24
+ 9 |13 [24]26]28
— 418 [10]15]17]20
X 112131567 [N ]|14]116]19]25
+ 12 118 | 21122 | 23 | 27
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